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Find the value of the variable.
1) H = 501 - 71 H = 430

2) 698 - J = 635 J = 63

3) 874 - Y = 747 Y = 127

4) 648 + 29 = V V = 677

5) E - 998 = 1 E = 999

6) 226 + 509 = Q Q = 735

7) 370 = S + 114 S = 256

8) 59 + L = 765 L = 706

9) N = 787 + 20 N = 807

10) 948 - 919 = U U = 29

11) 941 - 885 = G G = 56

12) 141 = T - 491 T = 632

13) 29 + B = 97 B = 68

14) 932 = C + 923 C = 9

15) 4 = A - 574 A = 578

16) F - 482 = 446 F = 928

17) K = 483 - 350 K = 133

18) 667 = 684 - P P = 17

19) Z + 765 = 929 Z = 164

20) 790 = 855 - R R = 65

Answers

1. 430

2. 63

3. 127

4. 677

5. 999

6. 735

7. 256

8. 706

9. 807

10. 29

11. 56

12. 632

13. 68

14. 9

15. 578

16. 928

17. 133

18. 17

19. 164

20. 65
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0
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Find the value of the variable.
1) H = 501 - 71 H = 430

2) 698 - J = 635 J = 63

3) 874 - Y = 747 Y = 127

4) 648 + 29 = V V = 677

5) E - 998 = 1 E = 999

6) 226 + 509 = Q Q = 735

7) 370 = S + 114 S = 256

8) 59 + L = 765 L = 706

9) N = 787 + 20 N = 807

10) 948 - 919 = U U = 29

11) 941 - 885 = G G = 56

12) 141 = T - 491 T = 632

13) 29 + B = 97 B = 68

14) 932 = C + 923 C = 9

15) 4 = A - 574 A = 578

16) F - 482 = 446 F = 928

17) K = 483 - 350 K = 133

18) 667 = 684 - P P = 17

19) Z + 765 = 929 Z = 164

20) 790 = 855 - R R = 65

Answers

1. 430

2. 63

3. 127

4. 677

5. 999

6. 735

7. 256

8. 706

9. 807

10. 29

11. 56

12. 632

13. 68

14. 9

15. 578

16. 928

17. 133

18. 17

19. 164

20. 65
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0
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Find the value of the variable.

127 807 29 706

430 632 677 56

999 735 63 256

1) H = 501 - 71 H = 430

2) 698 - J = 635 J = 63

3) 874 - Y = 747 Y = 127

4) 648 + 29 = V V = 677

5) E - 998 = 1 E = 999

6) 226 + 509 = Q Q = 735

7) 370 = S + 114 S = 256

8) 59 + L = 765 L = 706

9) N = 787 + 20 N = 807

10) 948 - 919 = U U = 29

11) 941 - 885 = G G = 56

12) 141 = T - 491 T = 632

Answers

1. 430

2. 63

3. 127

4. 677

5. 999

6. 735

7. 256

8. 706

9. 807

10. 29

11. 56

12. 632

Modified 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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